1. Diagrammatically depict and explain the strategic planning process
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Explanation of Strategic Planning Process:
· The strategic planning is a thinking stage.
· It starts with strategic direction through the vision and mission statements 
· Internal and External environmental analysis are done to identify strengths, weaknesses, opportunities and threats 
· The long-term goals are formulated and then strategy selection takes place 



2. Differentiate between the three phases of the strategic management process
· The 3 stages of the strategic management process:
I. Environmental analysis – responsibility of every manager at every level 
II. Strategy formulation - top management, input from all levels management 
III. Strategy implementation – most challenging, needs buy-in from employees
a) Environmental analysis – 
i. Thinking phase
ii. It starts with the vision and mission statements.
iii. Internal and external environmental analyses are done to identify strengths, weaknesses, opportunities and threats.
iv. The long-term goals are formulated and then strategy selection takes place
b. Strategy formulation –
i.  is the action stage of the SM process.
ii. Chosen strategies are implemented through different drivers and instruments
c. Strategy implementation – checking stage. Management must evaluate the success and failure of the venture.

3. With reference to the different strategic planning champions, explain who is involved in the strategic management process.
a. The social crafts person(SC) has the ability to integrate different expectations of different groups. Has the ability to 
b. The artful interpreter understands local norms, routines and positions. Able to adjust the strategic planning according to the context of the local game. Known Strangers – associated with maintaining a balance between closeness and distance to other role players.

4. In tabular format, explain the different views of strategic management.

5. Discuss the benefits of strategic management.
a. Higher Profitability, better improvement in turnover and profits.
b. Higher Productivity, better planning of resources and material improve productivity.
c. Improved communication Understanding of goals improves comm across different functions in the organisation.
d. Empowerment of employees, they take direct control and ownership of certain strategies and commit to implement it successfully.
e. Discipline and a sense of responsibility to the management of the organisation.  Management takes full responsibility for its strategic plans and implementation.
f. Better time management because the strategic process is broken down into more specific time frames, giving employees a better idea of their own time management.
g. Better allocation of resource through more effective resource management
h. Encourage proactive thinking and breaks down resistance to change.  Employees can see in which phase the strategic process is moving.
i. Provide a framework in which every employee can see and understand in which phase the strategy process is. 



6. Discuss the risks of strategic management
a) Too much time spent of planning and not enough on implementing the strategy.
b) Unrealistic expectations from managers and employees. Could lead to demotivation among staff.
c) Uncertainty of implementation. There should be a clear chain of implementation down to lower levels, and clear responsibility areas and outcomes 
d) Negative perceptions of strategic management. No support of the importance of strategic management by especially the top management.
e) No specific objectives and measurable outcomes. When unclear if strategy was implemented successful or not.
f) Culture of change, strategic management and organizational change go hand and hand.
g) Success grove, if strategy successful organisation might not foresee any difficulties in the future. 
h) Incorrect execution of strategic management could negatively affect an organisation’s productivity, profitability and competitive advantages.

7. What are the Components of strategic leadership (4) (6-11/10-12)

a) Determining the company’s purpose or vision 
· Leaders must articulate a tangible vision, values and strategy.

b) Exploiting and maintaining core competencies.
· Definition: core competencies – the resources and capabilities that ensure a competitive advantage over the rivals of the organisation

c) Developing human capital
· Definition: human capital – entails the knowledge and skills of an organisation’s entire workforce.
· Companies should invest in their human capital in order to derive the full competitive benefit.

d) Sustaining an effective organisational culture 
· Organisations that can shape the culture in a competitive way will be valued sources of competitive advantage.

e) Emphasizing ethical practices 
· Definition: ethical practices – the moral filter that evaluates potential courses of action.

f) Establishing balanced organisational control
· 
8. What are the Tasks of strategic leadership

a) Recognise the dual nature of strategy (short-term as well as long-term) p62
b) Start with vision, mission and distinctive profile p62
c) Replace “resource-based” strategy with a new basis of strategy formulation p63
d) Focus on strategy as being the alignment between the external and the internal worlds of the company p63
e) Competing through business systems, not through businesses p63
f) Recognise that there is a growing decentralisation of strategy-making and leadership

9. Differentiate between a vision statement, a mission statement and strategic intent? (6 or 3) (6-10/10-11)
· Vision statement
· Is the 1st step in the strategic planning and serves as a roadmap of the organisation.  
· It answers the question “What we want to become”.  Focus on the future. 
· It also serves as a basis for formulating the mission statement.
· Mission statement
· Often derived from the vision statement.
· A statement of PURPOSE that distinguishes an organisation from others.
· Strives to address the interest of the organisations stakeholders.
· It answers the question “What is our business”.  Focus on the present.
· Strategic intent
· Envisions a strategic leadership position
· Gives a sense of direction and forms a basis for resource allocation.
· It contains elements of both vision and mission. 
· Can also be the basis for the mission statement


10. Identify and explain the components of a good mission statement? (8) (10-10)

1. Products and services that the organisation offers or plans to role out in future. Describe the business activities.
2. Markets have to do with where the organisation does its business.
3. Technology used for production/delivery of product/ service.
4. Survival issues – how they intend expanding and markets
5. Growth  - what is important in terms of the growth initiatives
6. Profitability deal with the future profits, market share and market impact.
7. philosophy reflects its beliefs and values, as well as commitment in terms of how the organisation will be managed.
8. Concern for Public Image, including customers, has certain perceptions and expectations of the organisation.
9. Concern for Employees – the treatment of employees.
10. Concern for Customers – how to identify customers, their needs and organization capacity.
11. quality – degree of satisfaction of the various needs by the organization.

11. Concept of responsible leadership (6) (6-11/10-11/6-12)

Def: Act of ethical, values based leadership in pursuit of economic and societal progress and sustainable development.

· It provides the mind-set within which corporate governance should take place.
· Organisation should take ownership of consequences of their business activities on an economic, social and environmental level.
· A business has two main responsibilities in the form of
I. Corporate social responsibility (CSR): Associated with ethical issues, doing what is right and fair, avoiding harm and self-regulation.
· Corporate citizenship: deals with social matters
· Social accountability: deals with social, ethical and environmental performance report
ii. Corporate sustainability: 
· Associated with support for sustainable development and long-term performance, 
· stability and survival of organisation. 
· Measured by triple-bottom line, which deals with economic, social and environmental impact.

12. Describe the impact of the King II Report with regard to Corporate Governance on strategic planning? (5) (6-10)
· Corporate Governance = formal system of accountability of the board of directors to shareholders.
· King II report promotes the highest standards or corporate governance in S.A.
· It identifies 7 characteristics of good corporate governance, namely discipline, transparency, independence, accountability, responsibility, fairness and social responsibility.
· Recommendations remain self-regulatory and include the code of practices and conduct. 
· Looks at matters such as, risk management, boards and directors, internal auditing, accounting, relations with shareholders and communication.

13. Explain how success is measured in strategic management terms? (5) (10-12)
· Profit is not the only measure of organisation success.
· Focus on survival in the long term.
· Strategic management is about surviving in a changing environment i.e sustainability.
· Focus needs to be on profitability, market share and new product development..
· Organisations primary objective: wealth maximization for stakeholders.

14. Explain the limitations of SWOT analysis?
· Focus on the external environment may be too narrow
· The assessment may be too static – one shot view at a point in time.
· Strengths identified may not be an advantage.
· The analysis may lead to an emphasis on a strength or weakness and disregard other factors that may be a competitive advantage.

15. Explain the Resource based View?

· The RBV holds that an organisation’s resources are more important than the industry structure in gaining and keeping its competitive advantage p114
· RBV argues that it is the resources and capabilities that will determine and efficiently and effectively the organisation is functioning 
· The main concerns for competitive advantage, according to the RBV, are organisational resources and capabilities
· According to the RBV, resources and capabilities must be difficult to create, buy, replace or imitate; they must have the quality of inimitability.

16. What makes a Resource valuable?


· Value – help the organisation to exploit external opportunities or neutralise negative external threats, for example: skilled employees
· Superior resources – fulfils a customer’s needs better e.g. two shops but one has a better location in the neighbourhood
· Scarcity – as long as it is valuable
· Inimitability – hard to imitate, for example: reputation (goodwill), a good location, a patented product, and organisational culture. Imitation happens in two ways:
· Duplication – same kind of resource is built
· Substitution – replacing it with an alternative resource that achieves the same results
· Capacity to exploit the resource 


17. What makes a functional approach is?
· Simple approach to conducting an audit
· Audit is done analysisng the company’s functional activities
· Each unit must determine its own audit questions
· The aim is to determine how each unit functions are being performed and the resources they need to perform.
· Disadvantage is that it may lead to a silo effect by focusing on a specific unit and not on whether it makes a significant contribution to the organsiation.

18. What are steps in the value chain analysis?.
· Steps in the value chain analysis SG126/206:
1. Identify and classify activities - the first step in performing a value chain analysis is to identify the various primary and secondary activities
2. Allocate costs - the next step in performing a value-chain analysis is to try and allocate costs to every activity, as each activity occurs
3. Identify the activities that differentiate the organisation from its competitors - using a value-chain analysis will help an organisation to determine the activities that differentiate it from its competitors and that serve as sources of competitive advantage
4. Examine the value chain - the last step in the value-chain analysis is to scrutinise the results of the value-chain analysis and to classify the various activities as strengths or weaknesses of the organisation.
19. What are the activities in VCA?
· The activities in VCA are the building blocks of competitive advantage; they can be grouped into two categories p122:
1. Primary activities – those that create the product or service and customer value
2. Support activities – add support; add value throughout the process.
20. Diagrammatically depict the Porter Model? 

21. What are the limitations of the Porter Model? 
1. The limitations to the model can be summarised as follows:
2. The model claims to assess the profitability of the industry: there is strong evidence that organisation-specific factors, such as organisational competencies, are more important to the individual organisation’s success than industry factors;
3. The  model implies that the five forces apply equally to all competitors in an industry: buyers’ power may differ from organisation to organisation, the same argument applies to the bargaining power of suppliers;
4. Product and resource markets are not adequately covered by the model: in both these markets the conditions are more complex than Porter’s model implies. The markets in which products are sold (buyer power) need more in-depth analysis when determining their strength;
5. The model can never be applied in isolation: the outcomes of the applications of the model are only relevant while the macroenvironment remains constant and stable; however, organisations function in complex and dynamic environments;
6. The model assumes that the relationship between competitors in an industry is always hostile: it is more complex than the model suggests; competitors often see “fair play” or a “give-and-take” relationship as an important quality of their interactions.

22. Discuss the use of forecasting techniques?

· Clear and explicit assumptions about the future
· Predict changes in macroenvironment, trends and events in order to be proactive.
· Forecasting tools (two groups):
1. Quantitative techniques: (when historical data is available)
2. Qualitative techniques.
· Choice of a suitable forecasting technique depends on the availability of historical data, costs, time and the accuracy of the forecast information that is needed.
· Scenario planning relates to the tools and technologies for managing the uncertainties of the future.
A scenario is not a forecast, but one possible future outcome

23. Explain external assessment?

24. Depict the balance scorecard

25. Explain concept of ‘sustainable competitive advantage’ (5) (6-11/10-11/6-12/10-12)

· Strength that differentiates an organisation from competitors
· Could be in form of technology, skill, image…etc
· Crucial to achieve success over the long term
· All strategic management activities should be performed within the context of continuous improvement.
· A competitive advantage should fulfil the following criteria: 
· It should relate to an attribute with value and relevance as the targeted customer segment.
· It should be perceived by the customer as a competitive advantage.
· It should be sustainable and not easily imitated by competitors.

26. Comment on the factors that impact on strategic choice? (5) (10-11/10-12)
· The different components of the strategic planning process would impact on the choice of strategy. A change of any component of the strategic planning process may require a change in strategy.
· Appropriateness: refers to the needs of the environment, the resources (available and needed), the organisation’s values, and its current mission;
· Feasibility: refers to the timing, the availability of finance and other resources, and meeting key success factors.
· Desirability:  refers to the ability of the strategy to satisfy the organisation’s objectives, its synergy, certain inherent risk factors and, of course, shareholders’ needs and preferences.
· Other factors: preferences of top management, organizational leadership, organizational culture as well as the history of the organisation.


27. Differentiate between the 4 generic strategies? Use relevant examples to support your explanation. (20) (6-11)

Cost-leadership 
· Providing the lowest prices to consumers in order to gain market share in a particular industry
· Product that appeals to a broad target market, highly standardised. 
· Emphasises production of standardised products at a very low per-unit cost for price-sensitive consumers.
· Organisation’s cumulative costs across its overall value chain must be lower than its competitors’ cumulative costs. Two ways:
1. Out-manage rivals in the efficiency with which value chain activities are performed 
2. Revamp the organisation’s overall value chain to eliminate or by-pass some cost-producing activities.

· By making products with as few modifications as possible, the organisation can exploit the cost-reduction benefits that accrue from:
· High capacity utilisation;
· Economies of scale;
· Technological advances; and
· Learning and experience.

· Parameters that distinguish a cost-leadership strategy from the other generic strategies:
· Economies of scale
· Spreading the fixed costs over a greater volume;
· Specialising in a specific production process;
· Practicing superior inventory management;
· Exercising purchasing power; or
· Spending more effectively on advertising.

· Experience and learning curve effects
· Organisation’s costs can decline as employee experience increases.
· Higher productivity, increased understanding of responsibilities, skills to achieve organisational goals more effectively and efficiently.

· The percentage of capacity utilisation 
· fixed costs being spread over a larger unit volume which lowers the fixed cost per unit.

· Technological advances 
· Reduce the unit cost of their products or services significantly.

· Improved efficiencies and effectiveness through supply chain management 
· An organisation’s value chain is intimately linked to the value chains of its suppliers and customers in a highly interactive way e.g. Dell.




Differentiation strategy
· Producing products/services which are perceived to be different, and more valuable compared to competitors’ products. 
· Perceived uniqueness through:
· Quality
· Technological superiority
· Design
· Image
· Differentiation is more profitable when it is based on:
· Product innovation;
· Technical superiority;
· Product quality and reliability;
· Comprehensive customer service; and
· Unique competitive capabilities.
· Success through customer retention and loyalty. 

Focus strategy
· providing products that fulfil the needs of a narrow segment of consumers with unique tastes and preferences 
· choosing a particular market and catering for the very specific needs of consumers in this market. 
· exploiting a market niche that differs from the rest of the industry.
· Focus strategy based on cost leadership or differentiation

Best-cost strategy (middle-of-the-road strategies) 
· combination of low cost leadership and differentiation strategies. 
· competitive advantage: more value for money, more difficult for competitors to imitate. 
· integrated strategy
· positive relationship with above-average returns

28.  Criticism against generic strategy framework (3) (10-11/6-12/10-12)

Criticism against the generic strategy framework has come under scrutiny by various scholars. Among others, the following were challenged:
· An organisation can employ a successful hybrid without being stuck in the middle. It has been revealed that some organisations with low costs are able to sell their products at premium prices. Porter argued that organisation needs to select differentiation or low cost strategy, if stuck in middle, will result in suboptimum performance. (Nissan example, low cost – high price) 
· Low-Cost strategy does not in itself sell products; if the lower costs are not reflected in lower price, products will not sell 
· Price can sometimes be used to differentiate; Price can be used to differentiate products, which may have been overlooked. It is argued that price and image, quality and design can be used as basis for differentiation. 

Notes: About Generic strategy framework: Generic strategy framework encompasses four categories namely; cost leadership strategy, differentiation strategy, focus strategy and best-cost strategy. General classification of strategies applies to all situations and strategies. In pursuit of competitive advantage, and organisation needs to adopt a generic strategy followed by selection of on a grand strategy in order to support and strengthen the generic strategy to gain competitive advantage.

29. Explain the various internal and external growth strategies.  Use relevant examples to support your explanation? (16) (10-12)

· Internal growth strategies:
· Concentrated growth, also referred to as market penetration
· A strategy that seeks to increase the market share of an organisation through concentrated marketing efforts.  Present market and present products.
· Market development
· Present products or services are introduced to new areas or countries.  E.g. MTN enter African markets.
· Product development
· Improve the products and services of the organisation to increase sales.  E.g. Toyota with new sporty looks.
· Innovation
· Use innovation to create new products or services.

· External growth strategies:
· Related or concentric diversification
· Adding new but related products to the production line. Canon camera also copy machines.
· Unrelated or concentric diversification
· Adding new unrelated products to the production line to reach new markets.
· Vertical integration
· Extend the scope and operations of an organisation to other activities within the same industry.
· Backward vertical integration
· [bookmark: _GoBack]Gaining ownership or increased control of organisations suppliers.  E.g. Toyota gaining ownership of Armstrong shocks.
· Forward vertical integration 
· Gaining ownership over distributors/retailers.
· Horizontal integration
· Organisation seeks ownership or increased control over certain value chain activities of its competitors. E.g. merges of Volkskas, United, Trust bank and Allied into ABSA.








Industry competitors
Rivalry among existing organisations


Potential entrants
Threat of new entrants


Buyers
Bargaining power of buyers


Substitutes
Threat of substitute products


Suppliers
Bargaining power of suppliers
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